Supplementary material - Neurophysiologist questionnaire

MEP muscle identification — Train
There are four muscles: Thenar, Extensor Digitorum, Abductor Hallucis and Tibialis. The goal is to classify the MEP signals on the back.
On this side, there are several MEP traces labelled by the corresponding muscle. You may look at these traces to «train», and then you

should turn the page and try to classify the MEP traces on the back according to one of the four muscles.
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MEP muscle identification — Test
Please classify the following MEP traces according to the follow ing four muscles: Thenar (APB), Extensor Digitorum (EXT), Abductor
Hallucis (AH) and Tibialis (TA).

399 728 8
I3 00 300
50 200
1
100
100
5
z z
0
o 0
50 -100
-5
-100
-200
1) i 40 &0 & 100 b P 40 &0 & 100 b i @ &0 0 100
ms ms ms
582 811 95
0
. 200
50 0
100
25 0
3 00 5710 0
-25 —20
-100
50 -30
75 -40 -200
1) P P &0 &0 100 1) 0 P &0 &0 100 1} P F &0 0 100
ms ms ms
695 819 200
15 10
50 200
25
5 100
0.0
25 0
z z
-50
-100
75 -5
100 -200
125 -10
T T T T T T T T T T T T —300 T T T T T T
0 B 20 &0 & 100 0 0 20 60 & 100 0 B 0 &0 0 100
ms ms ms
696 936 256
1
50
25 &0 5
0.0
0
2 s z® z
50 o -5
-15 -0
10 -10
-10.0
1) P P &0 &0 100 1) 0 P &0 &0 100 1} P F &0 0 100
ms ms ms
697 22 293
750
5
500 B
0 250 10
0
5 5
z 3 250 z
0
10 -500
~750 s
15 1000
-10
T T T T T T —1250 T T T T T T T T T T T T
B 20 &0 & 100 0 0 20 60 & 100 0 B 0 &0 0 100
ms ms ms
721 29 346
200 15
6
150 w0
100
. 75
50 50
3 2 = 0 25
-50 00
o -100
-25
-150
2 -50
T T T T T T =200 ~— T T T T T T T T T T T
0 n a0 ) & 100 0 0 a0 &0 & 100 0 n 40 S @ 100
ms ms ms
314
125
100
s
50
E=)
0
-25
-50
-75

B
8
g
8
=




